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The coefficient of finesse of Fabrey-Perot interferometer depends on

(a) the amplitude of incident wave ;‘ A

(b) the phase difference between two successive waves emanating from the same plate
(c) the film thickness

(d) the reflectivity of plates

An unpolarized plane wave incident on a calcite crystal splits up into the o- and e-waves.
Following statements are given about these waves. '
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A. D.K =0 for both o- and e-waves

B. For the e-wave, B lies in the plane containing E and optic axis of the crystal

C. The ray velocity surfaces corresponding to ordinary ray are ellipsoid of revolution
The correct option is

(a) Aonly (b) AandB

(¢) AandC @ A,BandC

Which of the following phenomenon is mainly responsible for the red colour of the rising
Sun and blue colour of the Sky ?

(a) Raman scattering (b) Rayleigh scattering

(c) Mie scattering (d) Compton scattering

In which process, the energy delivered by the atomic or molecular system has same field
distribution and frequency as the inducing radiation ?

(a) Spontaneous emission
(b) Stimulated emission
(c) Stimulated absorption

(d) Both spontaneous and stimulated emissions

An atomic line of wavelength 6000 A has a coherent length of 36 cm. The line-width of the
line is
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